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B.Com. Part-III (Honours) Examination, 2019
Subject : Taxation
(Direct and Indirect)

Paper : V
Time: 4 Hours Full Marks: 100

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

(New Syllabus)

1. Answer any eight questions: 2x8=16
@ A G5 2o Ted mie 8

. (a) What do you mean by ‘Heads of income’?
HIER WS TS QIR ?

(b) What is Gross Total Income?
e G W e
(c) What do you mean by defective return of income?
 iEm Zfoge RO T J @I
(d) What is tax evasion?
39 ¥ e
(e) Define previous year.
ST IR K| WIS |
(f) What do you mean by long term capital gain?
LA SFIE A Fwice @R 2
(g) What do you mean by tax rebate?
39 ARG Fe0e ;@i
(h) What is Perquisite?
AT H?
(i) What do you mean by ‘Block of Assets’?
‘itge TS FeIe F I ?
(G) Define the term ‘Person’ as per Income Tax Act.

R iR SIS GfE e s |
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(k) What do you mean by ‘exempted’ income?
TS W S N @A

(1) Mention two basic features of Central Sales Tax Act, 1956.
FE R wizw 1956-7 76 o1 aRiey S e |

(m) Who bears the authority to impose VAT as per VAT Act., 2003?
VAT IR 2003 SFpilta VAT Sl 419 99 (5 92 0 2

(n) What is casual income?

S SR

Answer question no. (a) or question no. (b) and any other five questions from remaining;

6X6=36
2 (a) A A4 (b) G O T @A A ey Ted WS ¢

(@) (i) Define ‘Appropriate State’ as per Central Sales Tax Act.
@ Reaeq wizy SR “Appropriate State’-qF Gl TS |
(i) Explain the term ‘Sale Price’ under C.S.T. Act.

R Rerea ez s Ry <o )
(b) (i) State two advantages of VAT.
T 361 96 R fgs i)
(i) Discuss in brief the features of VAT.
TREFC T PR QRBPIR wiiewa et
(©) (i) Who is ‘Person of Indian Origin’?
TR RIgS’ I

2+4=6

244=6

(i) Y, the CEO of X Ltd. had undertaken tour to

UK and USA for company’s work
and was out of India for a tota] period of 22 i

status of a non-resident. Is he justified? He visited foreign country for the first time
in May, 2016.

A ety woy)
(d (i) Define profession.
' (oI kR TG |

(ii) Discuss the time limits for submissi
O IReR st ey T |
(e) (i) Who can claim deduction under section 8

SR WG 80G 41t Pt s iRy

on of return, 2+4=6

0G of the Income Tax Act? 2+4=6
IACS g2



®

(h)

()
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(ii) From the following particulars submitted by Mr X, a Govt. em
year ended 31.3.2018, calculate the amount
of Income Tax Act.

ployee of 58 for the
allowable as deduction under section 80C

Contribution towards unrecognised provident fund ¥ 50,000

T 1,00,000 paid as tuition fees including ¥ 10,000 towards development fees to IIM
Kolkata for full time education of his only child.

e Subscription to National Saving Certificates (ixth issue) T 10,000

An amount of ¥ 1,00,000 deposited as term deposit for a period of 3 years in
accordance with a scheme framed by the Central Govt.

A el 7Bay)
(i) What do you mean by substantial interest?
gg® Y TS H @R ?

(i1) Discuss the tax treatment of agricultural income. 2+4=6
IR SNEE TR S |

(i) Can a minor be considered as assessee?

TREE § F4R Tonw Rabe o ow@e

(i) Who are treated as ‘deemed owner’ of house property under Income Tax Act?
SR e S iR Reafve niFEe B it sy e =

(1) What do you mean by tax free salary?
IA[E ([oF JE00 I QIR 2

(ii) State briefly the provisions of the Income Tax Act regarding submission of revised
return. 2+4=6
Fifte O wiREm Wi R SeEs Rl sweset [ige s

(i) What is PAN?
M ARy e

(ii) Mention four transactions where quoting of PAN is compulsory. 2+4=6

A R S T AT GFel BRI ERmeR S |

(i) What is meant by gratuity?

SelRs 2

(ii) B, an employee of X Ltd and covered under the payment of gratuity act 1972,
received T 62,000 as gratuity. He retired on 31.01.2018 after completing 30 years
of service. At the time of his retirement, his monthly salary was ¥ 3,100. Find out
the amount of gratuity taxable if any, for the assessment year 2018-19. 2+4=6

(G 2P TB)
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. d any other three questions from remainipg.
3. Answer question no. (a) or question no. (b) an y 12)(4:58

o

J S ¢
2 (a) WA &Y (b) GRS & @Al oG 2o T
(@) (i) What are the essential features of ‘inter state sales unde,r the CST Act, 195697
1956 AT (@@ Rernea wzea esAgn e wefR afige 5,
(i) Explain ‘Sale’ and ‘Dealer’ in brief as per CST Act. 2+10=17
I Rewes oz opiE Rew aR o SKewee i &t
(b) (i) What is Input tax credit method of computing VAT?
TRE 39 Fdfaed ‘Input tax credit’ &S0 F?
(i) Discuss the provisions regarding registration of dealer under WB VAT Act,
2+10=12
7 IR VAT Ol Opiie oot s siiffe R st s
(©) (i) When is a tax rebate under section 87A provided to the individual tax payer? Algo
mention the amount of rebate U/S 87A for the assessment year 2018-19.
T 8TA I e T e wIT red 72 2018-19 T3 i T2 < ey
A St )

(i) Discuss the conditions to be satisfied to claim deduction under section 10AA.

2+10=12
10AA TR R WA S 7T 16 S v

(&) (i) Under what circumst

(i) Z owns a House Property at Kojx i
ata i

< 2,10,000, Standard Rept 7 1,80,000). '1’(1?2311;:1101
(monthly rent being ¥ 14,000). F

Z for his own residential purpog e Februar}., 1, 2018 the property is occupied by



(5) C'll-lll/Taxation-V/(N&O)/I 9

X 6,000, Repairs € 2,500, Insurance T 700, Interest on capital borrowed on June 10,
1991 for acquiring the property X 1,23,000. Assuming that the income of Mr. Z from
other sources is T 1,80,000, find out the net income of Mr. Z for the assessment year
2018-19, Does it make any difference if the property is let out upto January 31,2018
@ X 19,000 per month? There is no unrealised rent, _ 2+10=12
Qe el wpa)
(M (1) Mention tax treatment of dividend,
SO dAcyIoire! S vt |

(it) From the following particul

ars compute the business income of Mr. Sarkar for the
AY - 2018-19:

- 2410=12
Trading and Profit & Loss A/c
for the year ended 31.03.2018
3 3

To Opening stock 30,000 By Sales 6,50,000
To Purchase 5,00,000 By Closing stock 50,000
To G/P c/d 1,70,000

7,00,000 7,00,000
To Salaries 40,000 By G/P b/d 1,70,000
To Isurance 10,000 By Profit on sale

of machine 10,000

To Advertisement 16,000 By Bad Debt recovered

(Previously allowed) 10,000
To Purchase of

copyright 28,000 By Dividend 39,500
To Misc. Exp. 18,000 By Winning from

Horse Race 10,500
To Medical Exp. 22,000
To Car Exp. 15,000
To Sales tax 3,000
To Depreciation 28,000

To General Reserve 5,000
To Net profit 55,000
2,40,000

S 2.40.000

Other information:

(A) Included in salary ¥ 6,000 paid to Mr. Sarkar's son who never attended the business.

(B) Insurance premium includes 70% paid for Life Insurance premium of Mr. Sarkar’s
lifc.

(C) X 30,000 was paid in cash to a supplier who refuses to accept cheque.
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€:9)

()

(D) Misc. Exp. includes ¥ 3,000 paid for purchasing NSC VIIIth® issue.
(E) 1/3 of the car exp. was for personal purposes.
(F) Depreciation as per Income Tax Rules < 30,000

(G) An amount of T 4,000 accrued during the year was not shown in the P/L Account.

(A& 2 7Bq)
(i) What do you mean by annual value of House Property?

RTer AT T Fe I @AE?

(ii) Frame a suitable tax planning programme in respect of income from salary.

2+10=12
‘O 2T IR 4S9 SARTEAE Soge [REnel e |

(i) Narrate the tax rate applicable to an individual assessee below 60 year age for the
assessment year 2018-19.

2018-19 1 IEF GIE 60 IR G FAWLAT L@ I @I @ FE@ |

(i1) Discuss the incomes generally taxable under the head Income from other sources.

2+10=12
S B (AT ST BT SRR G S |




